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OMEAGHE SRl 5+ 34,300
Osted At SOl =+ 17,000
OXMAHME SOl =7 40,000
O2YAscH S0l =+ 20,000

=AM AEEE 2 10,000 10,000 0

206 M =4l 10,000 10,000 0

01 T 2 bl 10,000 10,000 0
O AH2E 2 10,000

STl2E 31,000 30,000 1,000
L= 15,500
i 15,500

307 21zZtol 31,000 30,000 1,000
& 15,500
= 15,500

02 It A8 X 31,000 30,000 1,000
oOZ=d 2= 31,000,000& *14! 31,000
= 15,500
= 15,500

ZHIALS 10,959,000 6,508,812 4,450,188
= 4,462,500
= 865,000
= 5,631,500

SELEMY 3,151,000 1,615,000 1,536,000
= 1,891,000
= 1,260,000

401 Al EHIL 2OhY| 3,151,000 1,615,000 1,536,000
= 1,891,000
= 1,260,000

01 A& HI 3,145,000 1,610,000 1,535,000
OZ2X+ o= 1,236,000
= 743,000
= 493,000
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= 279,000
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03 AI& 2 0HHI 6,000 5,000 1,000
Oodte Z&EAMY AL=RUH 6,000
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201 L Et2FH| 40,000 40,000 0
01 AR 2teld| 40,000 40,000 0
OHEAAGHA JI&dHM &FH &EH dX= 4,500
O0IEd JI8H &EHl EH gx= 9,500
oz4&d JIEH EHl EH gx= 5,500
OZ2X+ of&IIdM HYl ZHl &x= 5,000
OMNEX T StAI|I&EHM &EH EH Xz 6,000
OstEd JIdHd HHl ZHl €x= 5,000
o¢sa JldMd HHl HUl €xz 4,500
401 Al HIZ 20 200,000 200,000 0
01 Al & Hl 200,000 200,000 0
OAELGHE JI&HM &b 15,000
oBs0tS M&E JIdH &l 30,000
OUEAGHA D&M &bl 20,000
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401 A2 HIL ST 50,000 50,000 0
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ot R Al &e| 1,115,000 400,000 715,000
& 440,000
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i 675,000
01 A& HI 1,115,000 400,000 715,000
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= 6,000
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z 14,000
Ot E KX 22l A 20,000
= 6.000
z 14,000
O4+LH KX B2l A 20,000
= 6.000
z 14,000
OSXE KXl 30,000
= 6.000
z 24,000
OAMEZ SXIB2IA 40,000
3 6,000
z 34,000
ONSHE KX T2l 35,000
3 6,000
z 29,000
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= 6,000
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= 6,000
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= 6,000
z 9,000
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= 6.000
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= 6.000
= 24,000
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2 571,000
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2 422,500
03 Al& 204l 10,000 10,000 0
OASHE FHIAY Al& RO 10,000
ASHEINE ALY 545,000 330,000 215,000
401 Al 2 HI 2 2 O] 545,000 330,000 215,000
01 Al&H| 545,000 330,000 215,000
OMBAGHEINE ALY 50,000
OBHHE N2 4 AL 50,000
OUHEAGIEINE ALY 45,000
OARRAGHEFHI ALY 400,000
N EE N 345,000 300,000 45,000
401 Al &8I 2 S OHH| 345,000 300,000 45,000
01 Al&HI 345,000 300,000 45,000
oW aATHE KX 50,000
OSB251d KN 50,000
OXEHA5HE RN 25,000
OE£251F RNz 45,000
OgELGE RN 30,000
OUEAGIE RN 20,000
oOFTAGHE RN 65,000
OSM251E KN 15,000
CEIES R SN 1) 30,000
CEPIES R INETC) 15,000
= NHEAY (ZRNR) 530,000 700,000 A170,000
= 265,000
2 265,000
401 Al & HI 2 S OH | 530,000 700,000 A170,000

_15_




M ALTHED
A 21X L SIAFE(ZEL R GNL/=Xt2)
o2l StEZHIAS (&9 HM

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

265,000
265,000

EURGH

01 A& H] 530,000 697,000 A 167,000

ODNEA SOHEHISA 200,000
100,000
100,000
60,000
30,000
30,000
50,000
25,000
25,000
50,000
25,000
25,000
50,000
25,000
25,000
50,000
25,000
25,000
30,000
15,000
15,000
40,000
20,000
20,000

0H

Ml

©
N
0x
S
O
i
_O'j
ra
0
&

Mk

©
0z
=
in
e
b
_O'j
ra
0
=5

EURGH

©
0
z
o
ng
1
b
_O'j
Bl
02
=

EURGH

©
0z
S
=
T
b
_O'j
Bl
0
=8

U

©

]
10
)
0T
ra
0
=5

U

Ot

02
r
b
_O'll
[l
04
=5

M H1

©
(=}
02
b
S
>
_O'j
ra
e
0

BN

Nk A x4 500,000 0 500,000
300,000
100,000
100,000

H

401 Al EHIZ 2O YI 500,000 0 500,000
300,000

100,000
100,000

MM

01 A& H 500,000 0 500,000
Ondgd ek & = 500,000
300,000

100,000
100,000

0x

MW

el
ra
_l
oy
P
0x
>
I

300,000 0 300,000
180,000
60,000
60,000

W

401 AIEHIZ 2 OHY| 300,000 0 300,000
180,000
60,000
60,000

MW




S HET LD
BE: =22 U SHEYH(FELNANL/ETE)

el ol E ALY (et =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
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= 180,000
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= 60,000
NEZSEMNL(ZELXNSNL/RNSLZA) 500,000 1,300,000 A800,000
NS R 500,000 1,300,000 800,000
SHX SN X2 AL 500,000 1,300,000 800,000
401 A& HIZ 2 CHYI 500,000 1,300,000 A800,000
01 A& H 500,000 1,300,000 A800,000
O™ XL XA 500,000
SEES N (s Lsd/5Y - s&) 9,460,114 9,193,004 267,110
= 4,110,000
= 15,000
= 1,431,300
= 3,903,814
Xlot==2tel 91,089 84,004 7,085
& 7,800
i 83,289
Kot =H2E2d2e| 62,569 54,854 7,715
201 gEt=24Ed| 4,050 2,400 1,650
02 32244 4,050 2,400 1,650
OXs4 BEVEY HAMZUS
150,000& 128 1,800
OXlsots 2252 AIZFHI S22l
150, 0003 *15J4 A& 2,250
401 Al EHIL 2OHY| 58,519 52,454 6,065
01 A& HI 58,000 52,000 6,000
OXlols EX2=Y AXAMY
12,000,000 *4 4 A 48,000
OYXSs o=+ 2,000, 000& *5J4 2 10,000
03 AlZ = 0| 519 454 65
OXote EX2FY ALY AIE204]
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201 L2 2,520 3,150 2630
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Kot OIZAEH ZAL 29 26,000 26,000 0
= 7,800
= 18,200
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OJ|Mz &2 =g 600,000,000 * 14! 600,000
420,000

60,000
120,000

M H O]

403 At XISHHEXH=0l & 350,000 150,000 200,000
246,000
35,000
69,000

M H O]

02 S| 2SOICHSHCH & AFH HI 350,000 150,000 200,000
(

OJIAS &2 SR Z(AE)

2
350,000,000& 14! 350,000
246,000
35,000
69,000

M HY O]

N
e
h
O
R
S
&
=
ux
04
=5

1,326,025 1,320,000 6,025

N
2
ue
o
H0
02

76,025 30,000 46,025

e
=
10
1]
o
o=

46,025 0 46,025




S AE T D
Mo zEs N (SYHYN/5Y - 55)
CHol: AT BHE | (69l &2
: - . rSIEL== =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O=9S Xots +EAM 242
109, 4002 +37574 £ 41,025
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02 2Bl 30,000 30,000 0
0322 2 HA 10,000, 0002 * 14} 10,000
YL -FIES T 20,000,0002! * 14! 20,000
401 AL 2T 1,200,000 1,270,000 70,000
01 Al bl 1,200,000 1,270,000 A70,000
ODY BE0S S2EE 30,000,008 *14! 30,000
Ot AEHOIS S2EE 30,000,008 %14 30,000
©5t0l AEOHS S2FHl 30,000,008 *14! 30,000
Ol ZEOS S2EF 30,000,008 %14 30,000
OOt AIFOS S2EF 30,000,008 *14! 30,000
OMH BOOIS S2EF  30,000,0008*14! 30,000
OOt BHOIS S2EE 40,000,008 *14! 40,000
0% GHA0IS S2EF 50,000,008 *14! 50,000
ODHS MEXT B2
30,000,00021 * 14! 30,000
O&L S2XT B+
30,000,0002! * 14! 30,000
OWIt NEXT SHh+ZF ]
30,000,00021 * 14! 30,000
OYs AP B4
60,000,00021 * 14! 60,000
OY YUXT =2l 40,000,000 *14] 40,000
0T HEXP 42|
30,000,00021 * 14! 30,000
O3l3 ZOIXT BAZEH| 60,000,008 *14] 60,000
oS =X S+
40,000,0002 *14] 40,000
OAZX RXB2IAY  15,000,0008 *47H A 60,000
0SY HBAAY 25,000, 000! *67H 2 150,000
OLFREYIEAIE FHI AL 400,000
403 TEXISHHI S X2 0| & 50,000 20,000 30,000
02 2 J12HS Ofl CH BHCH 8 AL 24 50,000 20,000 30,000
O SEXT SAIILAIL FHHIBA
50,000,00021 * 14! 50,000
2l S2AAE RABAL X 67,000 55,000 12,000
= 15,000
2 52,000
401 A& 2L S THY| 12,000 0 12,000
01 Al &t 12,000 0 12,000
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6,000,000 2AH 12,000
402 QI2EAF2 01 ™ 55,000 55,000 0
= 15,000
= 40,000
01 QIZ2tXI=2E X 55,000 55,000 0
O%2 «2ANE SX2H X
55,000,000 =14/ 55,000
= 15,000
o 40,000
K ENLAI (S| 1,335,000 285,000 1,050,000
& 667,500
o 667,500
401 A& H|I L 20| 1,335,000 285,000 1,050,000
& 667,500
o 667,500
01 Al&H| 1,335,000 285,000 1,050,000
O Hx=0I2 S2tix==3Y| 50,000
== 25,000
iy 25,000
ONE AMSEHIx==2F Y| 50,000
o= 25,000
iy 25,000
OotY =X P+ HH| 50,000
& 25,000
iy 25,000
Oalel H= St & 4| 40,000
& 20,000
o 20,000
O=+2 S0 =2 &bl 35,000
& 17,500
iy 17,500
ONE SE1AFX &yl 320,000
& 160,000
iy 160,000
OLNH AR0OE2 P2HEBISA 50,000
& 25,000
= 25,000
OLNH MNENES s22EH 30,000
& 15,000
= 15,000
O1NH LE0IES s=22F 50,000
== 25,000
= 25,000
O01NHd HM=Elts s=2ZH 30,000
== 15,000
iy 15,000
01d sU0ls s=2Z& 30,000
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= 1,341,000
EMEHATH ALY 2,700,000 2,880,000 180,000
=l 1,890,000
= 270,000
2 540,000
401 Al & HI L 2 THH| 2,700,000 2,880,000 180,000
3 1,890,000
= 270,000
2 540,000
01 Al& 8] 2,650,000 2,860,000 £210,000
OsEMB L
2,650,000, 0002 *14] 2,650,000
3 1,855,000
= 265,000
2 530,000
02 22l 30,000 0 30,000
OsEMTHATYAY 22|
30,000, 0008 14! 30,000
3 21,000
= 3,000
2 6,000
03 Al & S CHY| 20,000 20,000 0
SEMBEAT NEER
20,000,002 14! 20,000
=l 14,000
= 2,000
2 4,000
02 BN 1,506,000 2,394,000 888,000
=l 1,054,000
= 151,000
2 301,000
403 REXISHHI S XH 0| H 1,506,000 2,394,000 888,000
= 1,054,000
= 151,000
2 301,000
02 BJ12HS Ol CHEHCH &Y AF2I Y 1,506,000 2,394,000 888,000
OBt SE0S SHNLAL
506,000, 0002 * 14! 506,000
=l 354,000
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2 101,000
OHBAY =202 EHNLAL
1,000,000, 0002 *14! 1,000,000
3 700,000
= 100,000
2 200,000
SO ZEIDIBRAZ LA 1,000,000 200,000 800,000
3 500,000
2 500,000
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OUIIN =0 EHOISAXE
1,000, 000,000& * 14! 1,000,000
& 500,000
= 500,000
CRUL(+ELUS/ER) 8,673,075 8,376,465 296,610
= 735,000
= 1,892,500
N = 6,045,575
2R 2el 2,938,075 1,808,465 1,129,610
& 392,500
i 2,545,575
E2RXN 2l 68,027 48,267 19,760
201 et2Ad| 55,327 39,367 15,960
01 A2 2 2ldl 19,065 13,120 5,945
Og =] 15,005
OEZE+E MY+ 2 6,000
Oz ord2tEr & tNES P 5,000
OEzE+3 285 ¢ 230,000 x5 1,150
Ogeigsa N 2,855
—SAMEX Y 535
- A3 57,0003 55+ A 285
- M 25,0003 * 108t A 250
— =S A 2 TH 1,000, 0003 = 1CH 1,000
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250,000& »2CH *23 1,000
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80,0003 x4 320
o2g=+¢ 70,0003 »4H 43| 1,120
O= gl 2,940
O& =42 (Al) 7,000 «14H +302 2,940
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(©)E=3:] 15,962
OOIHII,2HED|  LHI(BLR)
1,980 x10CH* 112l 4«60 13,068
Orsz22d(ZR)
1,850 * 10 =462 | B 34 2,894
OAN&ZEHl |Xb 5,900
Os4 W2l =2 150,000 «10CH 1,500
OARED| ¢ 250,000& »22] 500
ON&EHl =2l 3,500,000 =1CH 3,500
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0%2 EXE Hyl 9,000, 00021 *7H A 63,000
SEIH )| YA 20,000 15,000 5,000
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SR s=ol=S23At 55,000 0 55,000

401 AIEHIZ 20 Y| 55,000 0 55,000

01 A& H] 55,000 0 55,000

& 55,000
EH55E(DSXR)=HERSA 15,000
[ —

7SE (X ) =H= RS A 40,000

CR(MNR)H =X 50,000 0 50,000
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@2 SR (ctel: &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
02 SISO CHStCH At I 50,000 0 50,000
OXNLE, Z2& &I M=Z 50,000
T ALY 3,650,000 4,575,000 A925,000
= 1,500,000
= 2,150,000
= E A 1,590,000 2,215,000 A625,000
401 Al HIZL 2 0HYI 1,590,000 2,215,000 A625,000
01 A& HI 1,580,000 2,200,000 620,000
O E At 1,580,000
ORE6sH(E-2X) T2EILESA 400,000
ORE2sd(Z~EH) T2EILE S A 500,000
OZZ2sE(LE~UE) T2 LA I A 380,000
O 125d(S88M) T2EHEIHIA 200,000
O ZAIY MEHABEEHZ G2 (AKX
) 100,000
03 AI& 2 0HHI 10,000 15,000 A5,000
OAl &SI 10,000
QSR T2 HEIBA 1,500,000 2,100,000 600,000
& 1,500,000
401 Al Bl 2 CHYI 1,500,000 2,100,000 A 600,000
& 1,500,000
01 A& HI 1,500,000 2,100,000 A 600,000
Ogas~UH=2t T2EHIEIA 1,500,000
= 1,500,000
=R 2el At 560,000 260,000 300,000
401 A& Bl 2 CHHI 560,000 260,000 300,000
01 Al & Hl 560,000 260,000 300,000
O=% SA22AS 560,000
O2EZ9S (HEHNEX~E8H) e 3L otAZ
M I ALY (L=2.0km) 200,000
OFT105EH2 A IMEEMITZAIE =
A 8l (L=20km) 200,000
O=2E WHALESHUI(5MHA) 100,000
Oz 213 2UEAr (6I1A) 60,000
SO ET2AY 615,000 1,365,000 AT750,000
SHEZZ ALY 555,000 1,265,000 A710,000
401 A2 HI 2 2 1| 555,000 1,265,000 A710,000
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SHEZEZ SA2elALY 60,000 100,000 A 40,000

401 AIEHIZL 20| 60,000 100,000 A 40,000

01 Al &2 H| 60,000 100,000 A 40,000
O=0E T2 A 2elAL 60,000
OsHEER 212 ALIESAS (6IHA) 60,000

SISl HA A 1,470,000 628,000 842,000
z 735,000
o 735,000

FAE 2 IAXMEAH 400,000 528,000 A 128,000
& 200,000
= 200,000

401 A& HI L 204 400,000 528,000 A 128,000
= 200,000
iy 200,000

01 Al &2 H| 400,000 528,000 A 128,000
OREETZ2RZINE ALY (2IHA) 400,000
2 200,000
= 200,000

HEOIES YA 470,000 0 470,000
2 235,000
iy 235,000

401 A& HI L 201 470,000 0 470,000
Z 235,000
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01 Al &2 H| 470,000 0 470,000
ONE0IESREAIS 470,000
OEZWNEHHAIA(2IHA) 470,000
= 235,000
= 235,000

OtMstE st A X A 500,000 0 500,000
2 250,000
o 250,000

401 AlEHIL 24| 500,000 0 500,000
Z 250,000
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01 Al&H| 500,000 0 500,000
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2 30,000
2 30,000
20|t M H AT 2t R H AL 40,000 0 40,000
2 20,000
2 20,000
401 Al & HIL S THYI 40,000 0 40,000
2 20,000
2 20,000
01 Al&H| 40,000 0 40,000
OO0 R0 QN H AT RF R AL (204 4 ) 40,000
2 20,000
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HYFA 11,200 4,200 7,000
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405 RHoHE S| 7,000 0 7,000
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ST 33, 189 32,652 537
201 YEr2 | 33, 189 32,652 537
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